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EE411 — Summer 2008, Final Exam

Please, show all your work on the test sheets. A correct answer without supporting work
gets no credit. One sheet of notes is permitted. You can also use your sheet of notes from

tests #1 and #2. Write your name in all pages. Do not un-staple. You have 90 minutes to
complete the test.

Problem 1 (30 points)
Consider the second order circuit in the figure and that the dc voltage source has been
connected for a long time. Please answer the following questions:
a) Write down the complete form of v(t) and i(t) from the time the switch is closed.
b) Calculate the phasors V corresponding to v(t) and the phasor I corresponding to
i(t) a long time after the switch was closed.

c) Compare the answers for the two previous questions. What conclusions can you
draw from the comparison?
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Problem 2 (20 points)
For the circuit in the figure calculate.
a) Active or reactive power of each of the passive elements as appropriate.
b) Verify the conservation of both active and reactive power by calculating the
complex power generated by the source.
You can assume that all voltages and currents are in rms values.
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Problem 3 (25 points)
For the 3-phase circuit in the figure calculate:
a) Load’s phase and line voltage phasors (all 6 of them).
b) Load’s phase and line current phasors (all 6 of them)..
¢) Load’s complex power.
Consider that all voltages and currents magnitudes are rms values.

0.5(%> + o5(=*>

4 ____:/.03@

O F66[—%5

g

72 0SwslS =o. gLy

Zr-F, v 2, - /ECr {0355 = 166227

L&""
_ O
I= 1628 _ ;5574 (-22.9 |
/.86 (227 ?A&.&éﬂy
Z,. 25526 (1127 by g AT
262.% e Thasme




NS V74 7
an < Lo -z ge: 450@ - {CO ZYSZCC_Zé?:
- 209 27 (2%

Lo = 2¢4 27 (=73 T
V,, - 2c4 273 (23T

Wae = T, 3 (3> = Ls3 . 26 (521

Y a5 G =4St 26 (22T

SV _
ta =L /3 3> = (g2 262227

P- 5 =, osfa = [3 s> 26 255 26 @545 <
_ /92T s52. 9

& - GVL/;_L 5;h£?: /o2 Sr2. S LA

S - 14256, (H;)_—:%zms,ﬁ’ﬁfj v



Name: Page:4

EE411 — Summer 2008, Final Exam

Problem 4 (25 points)
Sketch the Bode plot for the magnitude of the following transfer function
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